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1. (10%)
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(1) Please produce any three topologies of computer networks.
(2) Draw the diagrams and explain the differences between them briefly.

2. (10%)

(1) Please give any three formats of media content and explain them briefly.

(2) How many bytes of memory occupied by a 1024x768 pixels full color image?

3. (20%)

Parameters are classified into three modes, 1. Call by address, 2. Call by value and 3. Call by

reference.

(1) Please explain parameter passing by examples of three modes briefly
(2) What would be the results of call_ by Mode function (test [element]) when the
parameters are passed by three modes.

element

test

Integer
Integer array of size 2

funcation call_by Mode(x: Integer)

{
test[1] :=6;
element :=2;
X =x+3;
b
function Main ()
{
test[1] :=1;
test[2] =2
element :=1;

call_by Mode (test[element]);

j
Results
Mode
test[1] test[2] element
Call by address
Call by vale

Call by reference
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4. (20%)
(1) Please explain multiprogramming and multitasking briefly.
(2) What is the difference between them?

5. (20%)
Please answer the following terms.
(1) Please define 2-3 tree.

(2) What is the result of inserting 32 into the following 2-3 tree.

//////,1Q<5\\\\\\\\\\

5 13 17. 20 .
RN VRN /NN
3 .9 11 14 16 18 23,30
(3) What is the result of deleting 60 from the following 2-3 tree.
30, 80 \
10. 20 60 95

(4) What is the result of deleting 95 from the result of (3).

6. (20%)
Please covert the following graph into any two data structures in details and explain the

differences between them.
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